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Suppose that in a twosphase system, the tmpedanges !

as shown in Figure 17-2. Then

E
Vo= lnyoy + Em
Vo= 1,2, +E,

: ltages; Ip,. Iy~
Vy are the phasor source vo0 Im, Iy are th
t::mr:’"j § ; 5 are cach the phasor sum'of ghc dchmrgﬂ .
and the ’,calklnnéc i'mpedance of a stator phgse,l Em and E; are
generated in,thc stator windings by the resultant air-gap ﬂ%

' in windings m aj
t Ni and N, _be the effective turns in S m
ExacuyL:s in a Jb:uangcd 2-phase motor, a.copstanb-a‘mbtfl
would result if the carrents in' lhg 2 }vmcrf::ig)sn %?o‘tibe
in ti drature. The direction of rotatic ‘
mmfs in time qua A —rl

on the phase sequence of the currents, 1
would result if 2 set of phasor currents Inpand -Ior in the
3, respectively, satisfied the phasor relationship L
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Iy = iog/a

whete a is the offoctiye Wrns ratio N/y/N'_ . Similar] t
backward fiald oyl result if another sclmof Phuoy;
satisfied the phasy relationship T
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